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the Answer Sheet.
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answer the questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your
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Sheet. If you mark more than one answer for one question, the answer will be treated as wrong.
Use Black/Blue ink ballpoint pen only to mark the answer in the Answer Sheet. Any erasure
or change is not allowed.

For each question for which a wrong answer has been given by the candidates, one-fourth of the
marks assigned to that question will be deducted as penalty.

You should not remove or tear off any sheet from the Question Booklet. You are not allowed to
take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination has concluded, you must hand over your Answer Sheet
to the Invigilator. Thereafter, you are permitted to take away the Question Booklet with you.

Failure to comply with any of the above instructions will render you liable to such action or
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1.

3.

PART—I

( GENERAL STUDIES )

How many three-digit numbers
are divisible by 5?

(A) 180
(B) 200
(C) 120

(D) More than one of the above

(E) None of the above

The value of

bl

is

(A) 605
(B) 30-0
(C) 405

(D) More than one of the above
(E) None of the above

The distance between Delhi and
Agra is 200 km. Suppose you
are travelling from Delhi to Agra
by a car. If you can maintain an
average speed of 90 km/hr for
120 km and 40 km/hr for the
remaining distance, how much
time will you take, on average, to
reach Agra?

(A) 3 hr 20 min

(B) 3 hr 30 min

(C) 4 hr 45 min

(D) More than one of the above
(E) None of the above
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4.

10% loss on selling price is what
percent loss on cost price?

1
() 9%
(B) 91—21%

(C) 10%
(D) More than one of the above

(E) None of the above

A pizza boy delivered two-fifths of
his pizzas on day 1, three-fourths
of his pizzas on day 2 and % of

his pizzas on day 3. On which
day did he deliver the most
pizzas if he had the same
number of pizzas in the
beginning of each day?

(A) Day 1

(B) Day 2

(C) Day 3

(D) More than one of the above
(

E) None of the above

The cost of carpeting a room
18 m long with a carpet 75 cm
wide at ¥ 4-50 per metre is ¥ 810.
The breadth of the room is

(A) 7m

B) 75m

(C) 8m

(D) More than one of the above
(E) None of the above



PART—I

( GENERAL STUDIES )

1. 9 3t & foradt o= 5 9 fawrsy

g?

(A) 180

(B) 200

(C) 120

(D) 39w | ¥ UF ¥ M+
(E) 3w & @ 18 Tt

. (1+;j(1+;)(1+i)...(1+1;())
FTHAE

(A) 605

(B) 300

(C) 405

(D) 3 U | UH A Al

(E) 3udth § @ g T

. g iR smm ow dfw #woF
200 ko Mo 7| 9M fifvw 319 fagh @
I TH FR T ST & | I W
120 fRo o & forw  ofto@ g
90 oo o /Ho 3R aEh T & fow
3irEd Tfd 40 foho Hio /Ho sHTT @ €,
@ AR AT Tge H e fopaa
ug e

(A) 3 =1 20 fime

(B) 3 e 30 fime

(C) 4 =1 45 fiFe

(D) 39w H ¥ UH ¥ i+

(E) 3w & ¥ 18 T
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4. foFa 99 W 10% H &M, | 9o

W e wicerd &t g1 87
(A) 9%

B) 92%

(C) 10%

(D) 39w H & TH ¥ ik
(E) 39 | | =I5 T

. & s aren e fq q-uted fos,

| fed dH-=emg fosn o fw e
T Torstrat = forqeor e 21 =t s
7 &t YeTa | 9ok 98 9HE g o
fos 9, 4 s fore foq o=@ il
forer ferafea foru?

(A) vEa T

(B) T fo
(C) o fam
(D) 39w H ¥ TH ¥ ik
(E) 39 # & I 7

. 18 e @ uw FW H, 75 Fo Hio

e e T ITAN oleh, Teitar fos™
& @ € 450 ufd Hiew B ow 9
¥ 810 B ®m i =rers 2

(A) 7 #He
B) 7-5 HiX
C) 8=
D) 39 U ¥ U ¥ Afh

(
(
(
(E) 39w 8§ @ *I§ e
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7. Two persons A and B complete a 9.

task in 15 days, when they work
together. Person A completes the
task in 20 days if he works
alone. How many days will B
take to finish the task alone?

(A) 35 days
(B) 25 days
10.
(C) 60 days
(D) More than one of the above
(E) None of the above
8. The sum of the numerator and
denominator of a fraction is 11.
If 1 is added to the numerator
and 2 is subtracted from the 11.
denominator, it becomes i The
fraction is
5
A _
® 2
6
B —_
®) -
12.
3
C _
© 3

(D) More than one of the above

(E) None of the above

An isotropic source of 2 candela
produces light flux equal to

A) 27 lumen
B) 4n lumen

(
(
(C) 8m lumen
(D) More than one of the above
(

E) None of the above

The spray bottles used as
window or household cleaner or
perfume sprayer work on

A) capillary action

B) Bernoulli’s principle

(
(
(C) Pascal’s law
(D) More than one of the above
(

E) None of the above

The trade name of basic lead
carbonate is

A) white lead
B) red lead
C) litharge

(
(
(
(D) More than one of the above
(E) None of the above

Which of the following elements
has the largest atomic radius?

A) Lithium
B) Beryllium
C) Boron

D) More than one of the above

(
(
(
(
(

E) None of the above
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7. T ARE A IR BUS &M & 15 fai & 9. 2 %Sl H1 Uk GHIGEH HId SIaT Jehrat

T K A 8, AR 9 TH A1 FW FA B oTad UeT LAl 8, 9% ©
=Rk A 3Thall IH %M & 20 faai # (A) 21 TEA
A 3| T AW el Bt ®) 4n e
fot # g = Y ©) 8n =
(A) 35 ft & (D) 30 # & TF & Afereh
(E) 37t o & I8 7

(B) 25 fei o

10. It a1 =i Fele a1 TRHE BRR & &9
(C) 60 fei d 3 orme B oy A @ A

, frfefiga & @ frg w om Fdt 87

(D) 39w H ¥ UH ¥ M A) o G
(E) 9 & & F1 7 B) et @1 fargra

D) 39w § € UH ¥ 3A(Ueh

8.@&?%@3‘[@’(?@@“11%| E) @éﬁﬁﬁaﬁéqﬁ
e I A 1 Wie fer S iR A 9
2 w21 foo <, A T 2 B W 31 fir 11. & (Af4) @ FEHe F1 A
3
H T2
(A) e (B3 ©I8)
(A) Z B) fog (= @)
(C) faemst
(D) 3ugw | § TF @ Al
B g (B) g 7
12. fr=fafaa & @ fra o i awm Bren
3 oy € 87
c) =
( 8 (A) ferform
(B) aftferam
; (C) R
D 19 s e
S (D) 3w | O wH ¥ Al
(E) 30 § ¥ HI5 T (E) 37w § & #15 7E
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13.

14.

15.

16.

The phenomenon
periodism  in
discovered by

(A) Garner and Allard

(B) Steward and Salisbury
(C) Thimann and Skoog

(D) More than one of the above
(E) None of the above

of photo-
plants  was

Silent Valley of Kerala is

preserved because

(A) it contains very rare species
of plants and animals

(B) the soil is rich in minerals

(C) the areas of land were used
extensively for agriculture
purposes

(D) More than one of the above
(E) None of the above

During normal respiration in a
mammal, the diaphragm is

(A) arched

(B) flattened

(C) lowered

(D) More than one of the above
(E) None of the above

The most important cell type
associated with the immunity of
the body is

(A) platelets

(B) lymphocytes

(C) RBCs

(D) More than one of the above
(E) None of the above
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17. The book entitled, Gyan Deepak

18.

19.

20.

was authored by a great saint
(A) Salar Masood Ghazi

(B) Dariya Saheb

(C) Imam Shah Faqgih

(D) More than one of the above
(

E) None of the above

Which agency in India has
launched UTSAH portal?

(A) UGC

(B) AICTE

(C) MCI

(D) More than one of the above
(E) None of the above

A. P. J. Abdul Kalam Satellite
Launch Vehicle Mission was
launched on

(A) 13th February, 2023
(B) 20th February, 2023
(C) 19th February, 2023
(D) More than one of the above
(

E) None of the above

In which city was the first
pure green hydrogen plant
commissioned?

(A) Hyderabad

(B) Mumbai

(C) Pune

(D) More than one of the above
(

E) None of the above



13.

14.

15.

16.

Nt & yifipTierar it @ist i 9Tt §
(A) TR 3 T

(B) waE iR dferosdt

(C) offfa 3R @
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(E) 3udth § @ 1S T

e hi wa T (Frgeie Ift) Gl

7, Fifh
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(A)  EIITRR

(B) =me

(C) = e gam
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(E) 304w & § rg 7
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(A) @i
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17.

18.

19.

20.

T &i9e A g hl T e 7
| o I off?

(A) HER HEE S

aRd # fore weiEl 7 UTSAH 9ied &1
TRy T 27

To o Sfo 3egal HAM HoATge Al
e T =l o= fomam o

(A) 13 wEd, 2023 H
(B) 20 ®adl, 2023 @
(C) 19 wadt, 2023 =
(D) 37w U 4 T ¥ Afw
(E) 3wt d & *Ig 7

fora et ® v 33 BN eRgieH W
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21.

22.

23.

24.

Which year has been declared
by the UNO as the International
Year of Millets’?

(A) 2023
(B) 2022
(C) 2024

(D) More than one of the above
(E) None of the above

Who among the following won
the 2022 Nobel Peace Prize?

(A) Ales Bialiatski

(B) Nadia Murad

(C) Maria Ressa

(D) More than one of the above
(E) None of the above

Who is the Chairman of the
State Commission for Backward
Classes appointed by the Bihar
Government on 2nd January,
20227

(A) Justice Sanjay Kumar

(B) Justice  Balmiki
Sinha

(C) Justice Igbal A. Ansari
(D) More than one of the above
(E) None of the above

Prasad

Which was the first movie in

Bhojpuri?

(A) Ganga Maiya Tohe Piyari
Chadhaibo

(B) Kanyadan

(C) Nadiya Ke Paar

(D) More than one of the above

(E) None of the above
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25.

26.

Arrange the following thermal
power projects of India from east
to west :

1. Kota

2. Namrup

3. Obra
4. Parichha
Select the correct answer

using the codes given below.
A 1,2, 3,4

B) 2,4,1,3

< 2,3,4,1

(D) More than one of the above

(E) None of the above

Which type of climate is in India
according to Trewartha?

(A) Savanna type

(B) Subtropical monsoon climate
(C) Mediterranean type

(D) More than one of the above

(E) None of the above



21.

22.

23.

24.

Y Y 99 3 foRE ¥l CSraug
fircte o =nfya femem T 27

(A) 2023

(B) 2022

(C) 2024

(D) T & & T @

(E) 3w | § Hig Tl

frafafaa § @ faa 2022 &1 Fi9w
ifd gEERR Sfrar?

(A) TerE forfermesht

(B) rfean qwe

(C) wfEm T

(D) 30 U | UH § Afeh

(E) 393t o & I8 7

2 S, 2022 H foErR WER 3w
g v foe il smm % e
FE 27

(A) =i g $ER

(B) =arfd smeifer wome fomar

(C) =M gohaTel To AT

(D) 3 U ¥ UH § Afeh

(E) 3ww & 9 18 T

Jiegd it veelt fhem -t off?
(A) T BT ale ot =@ggEt
(B) &6GH

(C) Afem & IR

(D) 39Yw | ¥ TH ¥ 31fe
(E) 3udth & & 18 7
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25. 9N % {ffad oHe aet TSl i

26.

Td § ufeem fewn o =afea fifw

H= fau MU e W TN W Ad W
EGL

A) 1,2, 3,4
(B) 2,4,1,3
C) 2,3,4,1
(D) 3w 4 4w U Afusw

(E) 30w | ¥ 18 e

feanart & IgER WRa Al Sieay R
TR T 77

(A) HEHET YHR

(B) SIS WA ey
(C) YHEIHTHI TR

(D) 37w ¥ 4 & ° Afh

(E) 39w 8§ @ *I§ e
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27. What 1is the

28.

29.

normal date
of withdrawal of south-west
monsoon at Hyderabad?

(A) 1st October

(B) 15th October

(C) 1st November

(D) More than one of the above

(E) None of the above

Which of the following States
has maximum urbanization?

(A) Goa

(B) Maharashtra

(C) Karnataka

(D) More than one of the above

(E) None of the above

‘Malnad’ region is associated
with which of the following
plateaus of India?

(A) Telangana Plateau

(B) Maharashtra Plateau

(C) Karnataka Plateau

(D) More than one of the above

(E) None of the above

18/HV/M-2023-01-30 (HS)/32-A

30. South Peninsular Upland is a

31.

32.

part of

(A) Gondwana Land

(B) Laurentia Land

(C) Antarctica Continent

(D) More than one of the above

(E) None of the above

The percentage of population of
Bihar with respect to India’s
total population is

(A) 8:58%

(B) 10-10%

(C) 12:25%

(D) More than one of the above

(E) None of the above

Which of the following pairs
is not correctly matched with
respect to south of Ganga region
in Bihar?

(A) Patna-Munger

(B) Gaya—Arwal

(C) Patna—Vaishali

(D) More than one of the above

(E) None of the above

10 [ EMHNTOETH0R A



27. 2eUEE H Sfe-gfeaw gy ol et

28.

29.

it T oy @ 27

(A) 1 FHR

(B) 15 3FHR

(C) 1 7a=R

(D) 3w W | UH § Afh
(E) 3udth § @ s T
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(A) T

(B) #erE

(C) HAleH
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30. cfeoft yrgda s=ygfa w1 am R

31.

32.

(A) TS T

(B) M ot

(C) 3TeTehicsht HeTET

(D) 39w H & TH ¥ ik
(E) 39w 8§ @& I8 e

IR il Pl SO % due foEr i
SEET 1 gfaed = 2?

(A) 8:58%

(B) 10-10%

(C) 12:25%

(D) 39w H ¥ TH ¥ ik
(E) 39w 8§ @ I8 e

fafafaa & 9 wH-w e foer &+
gf&qor T &7 O A A=Y @rar 87

(A) TR

(B) TEI-3REA

(C) ueT-amedt

(D) 39w H & TH ¥ ik
(E) 39w 8§ @ *I§ e
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33.

34.

35.

36.

Who is called the “Prophet of
New India’?

(A) Raja Ram Mohan Roy

(B) Dayananda Saraswati

(C) Dadabhai Naoroji

(D) More than one of the above
(E) None of the above

Which revolt is mentioned
in Anandamath of Bankim
Chandra Chattopadhyay?

(A) Sannyasi

(B) Santhal

(C) Indigo

(D) More than one of the above

(E) None of the above

Who was the founder of
‘Abhinav Bharat’ in London?

(A) Vinayak Damodar Savarkar
(B) P. M. Bapat

(C) Shyamji Krishna Varma
(D) More than one of the above

(E) None of the above

Where was the Ghadar Party
established?

(A) France

(B) Germany

(C) United States of America
(D) More than one of the above
(E) None of the above

18/HV/M-2023-01-30 (HS)/32-A

37. Who was appointed as the
‘Commander in Chief’ by Birsa
Munda?

(A) Demka Munda

(B) Gaya Munda

(C) Sundar Munda

(D) More than one of the above
(E) None of the above

38. Who formed the Bihar Socialist
Party?

(A) Phulan Chand Tiwari and
Rajendra Prasad

(B) Phulan Prasad Varma and
Jayaprakash Narayan

(C) Raj Kumar Shukla and
Swami Agnivesh

(D) More than one of the above

(E) None of the above

39. In which year was the ‘Bihar
Provincial Congress Committee’
formed with its headquarters at
Patna?

(A) 1908

(B) 1910

(C) 1906

(D) More than one of the above
(E) None of the above

40. Who established a branch of
the Anushilan Samiti in Patna
in 1913?

(A) Ramananda Sinha
(B) Satish Jha
(C) Sachindra Nath Sanyal
(D) More than one of the above
(E) None of the above

12 IR e
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36.

‘TIIRA 1 PR HH FHETd 27
(A) TSI qHEEA T

(B) <IM=< |L&dt
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(D) 39y H ¥ TH ¥ 31fe

(E) 3udth § @ g T

SfehH =g TR % 37H<H3 H TR
fargie =1 3g@ 77

(A) "=t

(B) @~UTeT

(©) i@

(D) 39w § | TH | AfIeh

(E) ST & & 1S e

T B ‘oafia aRa’ 1 e @i
or?

(A) ToTIe THIET ATaREt

(B) dio THo w9
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(D) 30 U | UH § Afeh

(E) 3w & @ 18 7

TeX i hit T Rt W g oft?
(A)

(B) mit

(C) HIF TA FAfH

(D) SWI® | € TH ¥ 3Meh
(E) 3udth # & 18 7
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37. foran guen g fordenl “Tet ¥ <%

38.

39.

40.

IERGAERIRICIIN
(A) HeT HUeT
(B) T el

(C) g=Rygrer

(D) 39w H & TH ¥ ik
(E) Swith d & =*Ig 7

forer worstandt a1 e fRei foRm

oqr?

(A) g e o 18 o

(B) BeH WHIE dHl IR SR
AR

(C) TSPHAR [ 3R Tamdt Afirers
(D) 39w ¥ 4 & ° Alh
(E) 39 § ¥ &g T

A 9 H 7, W oA fHEE aw
gear?

(A) 1908

(B) 1910

(C) 1906

(D) 39T H ¥ TH ¥ ATH
(E) 39w 8§ @ *I8

1913 ¥ o1 § 31gefied afufd i T
ITET Y TATIAT foRee A oft?

(A) TEE= o=

B) @ =

C) =AY |

D) 3W® H ¥ TF ¥ M

(
(
(
(E) 39w 8§ & *I8
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41.

42.

43.

PART—II
( HOME SCIENCE )

‘Alliin’ is a compound found in
(A) garlic

(B) turmeric

(C) cinnamon

(D) More than one of the above

(E) None of the above

The qualities of a receiver, which
influence face-to-face communi-
cation, are

(A) positive attitudes

(B) active listening skills

(C) decoding skills

(D) More than one of the above

(E) None of the above

Factor(s) affecting standard of
living is/are

(A) family income

(B) size of family

(C) money and time

(D) More than one of the above

(E) None of the above

18/HV/M-2023-20 HSc (HS)/32-A

44. Which of the following is the

type of human resource?

(A) Knowledge

(B) Intelligence

(C) Attitude

(D) More than one of the above

(E) None of the above

45. Which of the following psycholo-
gists is associated with cognitive
psychology?

(A) Jean Piaget

(B) Kohler

(C) Chomsky

(D) More than one of the above
(E) None of the above

46. Which of the following days is
being observed as the National
Consumer Day in India?

(A) 24 December
(B) 25 December
(C) 10 December
(D) More than one of the above
(E) None of the above
14 (NN R RN



PART—II
( HOME SCIENCE )

41. ‘tfer Tmges AfTE 9R ST 2 44. fefafad @ @ SFA-91 9H qE@ea w5
: THR 27
(A) g o
. (A) I
(B) ®eal | -
(B)
(C) eTer=t &
(C) gfe=nIm
(D) e e i (D) 37w § 4 T ¥ Afw
11_05
(E) IR d 4 *IE Tel B) i 4
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(B) @ au1 siere ®) =
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43. S WA ST T AN/ 46, frm e A e § T i few
FF B/ ¥ w9 § TR S 27
(A) TIRETRE S (A) 24 femEr
(B) UNER 1 3ATRR (B) 25 famwer
(C) =@ wd um (C) 10 fegmr
(D) 30w U | TH ¥ IA(4h (D) 39w H ¥ TH ¥ ik
(E) 30 § & #rE 7 (E) 3wfeh & & *1$ 7
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47. Which of the following psychol- 51.

ogists constructed the first

intelligence-related test?

(A) Alfred Binet

(B) J. B. Watson

(C) William McDougall

(D) More than one of the above
(E) None of the above

When cotton is boiled in caustic
soda solution, it

A) swells

B) dissolves

(
(
(C) turns red
(D) More than one of the above
(

E) None of the above

52. The Fourth International
48. What is the full name of PFA? Women’s Conference was held in
(A) Prevention of Food (A) Mexico
Adulteration Act (B) Beijing
(B) Prevention of Food Act (C) Nigeria
(C) Preservation of Food Acid (D) More than one of the above
(D) More than one of the above (E) None of the above
(E) None of the above
53. The period from implantation
49. Which of the following is through the 8th week of
concerned with management? pregnancy is known as the
(A) Henri Fayol period of
(B) Taylor (A) amnion
(C) Gilbreth (B) embryo
(D) More than one of the above (C) zygote
(E) None of the above (D) More than one of the above
(E) None of the above
50. Which of the following is the
milestone of emotional develop- 54. The type of parenting, thought
ment during infancy? to be most ideal, is
(A) Separation anxiety (A) authoritarian
(B) Social smile (B) authoritative
(C) Strange anxiety (C) permissive
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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47.

48.

49.

50.

T 9§ form TS 4 dauem gia-
graf-ara gfteqor o1 famior feman?

(A) ke fome

(B) o sfto areEH

(C) fafcrm fepeimar

(D) 3w U | UH A Al
(E) 3wt § @ 1$ T

PFA o1 Q% 99 &1 27

(A) Prevention of Food

Adulteration Act
(B) Prevention of Food Act
(C) Preservation of Food Acid
(D) 39w | ¥ UH ¥ M
(E) 3udth § & 1S T

T ¥ forueht dreey ey ¥ 37
(A) T wA

(B)

(C) Frewy

(D) SW® | § TH ¥ Mo
(E) 39w | ¥ 15 T

QAETTEAT o G qTATcHh faehrd ol
et o1 geor fefaftaa 8 @ sH-a1 27

(A) e o=

(B) @S FEpT

(C) fafe= fama

(D) 39w H ¥ UH ¥ M=
(E) 3wtk & & *1$ 7
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51.

52.

53.

54.

Sfd Wied ol HIEeH dIEl ToRE H
IATAT T, A TR

(A) R 2

(B) ¥t ST

(C) et & S §

(D) 37w 4 T ¥ Afh
(E) 3wfeh & & *18 7
eft sTaig mfeen wwtE wE g
oft?

(A) AfFER

(B) shfsm

(C) dmestiicn

(D) 39w H | TH ¥ ik
(E) Swith # & =g 7

QU F R THITET o 89 THIE doh T
g forg A @ ST STaT 27

(A) 3=

(B) oo

(C) Fws

(D) 39T H ¥ TF ¥ ATH
(E) Swith d & *Ig 7

R = ywr, 9 gaites smsfead
A ST ?, 98 ®

(A) stenfefem
(B) ertenteefea

(C) wiHfaa

(D) 37w ¥ | T ¥ Afh
(E) 3wfeh & & *1$ 7
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55. The main function of vitamin K 58.

in the body is

(A) blood
clotting

coagulation or

(B) it acts as an antioxidant

(C) maintenance of vision

During fever, the increase in
BMR for every 1 °F rise in body
temperature is

(A) 10%

B) 7%

C) 5%

(D) More than one of the above
(

E) None of the above

(D) More than one of the above
59. Wool can be identified by which
(E) None of the above of the following in microscopic
view?
(A) Round tubular appearance
56. Which food‘ group is an excellent (B) Smooth surface
source of fibre?
(C) Scales
(A) Fats and oils (D) More than one of the above
. (E) None of the above
(B) Sugar and jaggary
(C) Fruits and vegetables 60. Gernju'natlon. of pulses is
nutritionally important because
(D) More than one of the above (A) it increases vitamin D
(B) it increases vitamin K
(E) None of the above o ) )
(C) it increases vitamin C
(D) More than one of the above
57. One gram of fat provides (E) None of the above
(A) S kcal 61. The number of temporary teeth
is
B) 7 kcal
(B) (A) 20
(C) 9 kcal (B) 10
() 25
(D) More than one of the above
(D) More than one of the above
(E) None of the above (E) None of the above
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55. iR @ FrefE K @ g w9 fr

56.

57.

a1 27

(A) T SHE H

(B) TEiATHfe< & &9 #
(C) 3 % w@-w@E b

(D) 39w | ¥ UH ¥ M
(E) 3udth § & 1S T

- T TYE W H1 390 I 27
(A) =@ T qa

(B) i T Tz

(C) wa wd |fesat

(D) 3w U | UH § Afh

(E) 39w # & *1$ T

Tk T @ fohal el T Xl 27
(A) 5 kcal

(B) 7 kcal

(C) 9 kcal

(D) 39w H ¥ UF ¥ i+

(E) 3wtk & & 18 7
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58.

59.

60.

61.

FER 6 IRHE, WENE qOEE § ufd
1 °F gfg & T sfto wHo 2o # wga

HIEHIEHITUE g8 &, I H ve=m =
T ¥ e gohR 1 STt 27

(A) T TuRe femmEe (Ywed) |

(B) T g @

(C) Thest &

(D) IWE H | TH ¥ Al
(E) 399w 8§ @ 1§ e

Tl 1 SAFIOT q90 K g ¥ HEwEgul
2, iR

(A) =€ faerfim D =it =@ @
B) = faerfid K =i seran @
C) I farfim C =+ serar 2
D) 39w H ¥ UH ¥ i
E) 3 § ¥ #18 T

reeTé efdl st S Bl ®
(A) 20

(B) 10
(©) 25
(
(

(
(
(
(

D) 39w § ¥ UH ¥ AUk
E) 3W® # ¥ %18 T
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62.

63.

64.

65.

Who was the organizer of
psychoanalytic method?

(A) Freud

(B) Skinner

(C) Woodworth

(D) More than one of the above

(E) None of the above

When was ICDS established?
(A) 1975

(B) 1979

(C) 1990

(D) More than one of the above
(E) None of the above

Iron stains can be removed by
(A) oxalic acid solution

(B) pressing with hot iron

(C) soap solution

(D) More than one of the above

(E) None of the above

The natural soluble impurities
are removed from the fibres by a
special operation called

(A) desizing

(B) bleaching

(C) scouring

(D) More than one of the above
(E) None of the above

18/HV/M-2023-20 HSc (HS)/32-A

66. As per the 2011 Census, the

child sex ratio of India is

(A) 819
(B) 919
(C) 1019

(D) More than one of the above

(E) None of the above

67. Which of the following can be
used to remove the grease stain?
(A) Fuller’s earth
(B) Benzene
(C) Glycerine
(D) More than one of the above
(E) None of the above

68. As per the 2011 Census, the
female literacy rate of India is
(A) 82:14%
(B) 74:04%
(C) 65:46%
(D) More than one of the above
(E) None of the above
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62.

63.

64.

65.

TAIfIYuucHe Ugfd o SIFHSIdT ohid
g7

(A) HraE

(B) ferw

(C) g

(D) 3w U | UH A Al
(E) 39t § @ g T

ICDS h! ST el g3 ¢

(A) 1975

(B) 1979

(C) 1990

(D) 3WI® | § TH ¥ Meh
(E) 3udth § & 1S T

e esl fordeh S0 T fopdl ST Wk 7
(A) ATFafA® 3T T HiA

(B) T g € YW Fh

(C) g it =t

(D) 39Yw | ¥ TH ¥ 31fe

(E) S & & g e

HIETH W T Wigeel AR w U
oo ey & g gern San g, 39
T hed 2 °?

(A) feamism

(B) sefifert

(C) w3

(D) 374 H ¥ TH ¥ A
(E) 3udth & & *18 7
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66. 2011 %l SUET & JFHAR, WRA 6
ey femmrgma
(A) 819
(B) 919
(C) 1019
(D) 37w U 4 & ° Al
(E) 3% # & =l Tl
67. T @1 usa wem ¥ o fefafaa
T q - R A B
(A) Feard fugt
(B) sisf
(C) frmadm
(D) 39w H | TH ¥ ik
(E) 399w 8§ @ 1§ e

68. 2011 & STUET & AR, WRA hil
Afea weRd ® 7

(A) 82:14%

(B) 74-04%

(C) 6546%

(D) 39w H ¥ TH ¥ ik
(E) 3wfeh & & *18 7
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69. According to the World Human 73. Xerophthalmia is caused by
Development Report, 2021-22, deficiency of which vitamin?
the HDI rank of India is (A) Vitamin B
(A) 136 (B) Vitamin A
(B) 135 (C) Vitamin C
C) 132
© (D) More than one of the above
(D) More than one of the above
(E) None of the above
(E) None of the above
74. 1d, ego and superego are the
70. The headquarters of FSSAI is at parts of
(A) New Delhi (A) motor development
(B) Hyderabad (B) social development
(C) Chennai (C) personality
(D) More than one of the above (D) More than one of the above
() None of the above (E) None of the above
71. According to ‘pigment colour i i
) . 75. The percentage of nitrogen in
theory’, primary colours are T
protein 1s
A) red, purple and blue
A PHIp A) 16%
(B) yellow, blue and green
(B) 18%
(C) red, yellow and blue
C) 12%
(D) More than one of the above
(D) More than one of the above
(E) None of the above
(E) None of the above
72. The mapping out of a course of
action in order to achieve family 76. The first fiber made by the man
goals is called 18
(A) planning (A) terilon
(B) organizing (B) polyester
(C) controlling (C) nylon
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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69.

70.

71.

72.

v ama fawm faed, 2021-22 &
3TIER, WG H HDI I &

(A) 136

(B) 135

(C) 132

(D) 39w | ¥ UH ¥ 1M
(E) 3udth & & *r$ 7

Tho THo TWHo TUo momg@rﬁr{{
el W fera 27

(A) = fegt

(B) TER

(C) ==

(D) IWE U | UH A Afh
(E) 39t § @ 1S T

‘Fuish U1 g’ W IR, Wit
g

(A) T, st (ader) qer e

(B) e, et aur ga

(C) e, e qer e

(D) 374 H ¥ TH ¥ A

(E) 3udth § @ h1$ T

qiitaTies deat & wiig & fou w9
1 fasm 1 @ s W wEd 2

(A) ISHET FFT

(B) wfed s

(C) T=f=a wm

(D) 39w | ¥ UH ¥ M
(E) 3udth & & 18 7
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73.

74.

75.

76.

SRt fora foerfim =it & @ g
&7

(A) ferfm B

(B) foerfim A

(C) fo=rfim C

(D) 37 U & T ¥ Afh
(E) 399w 8§ @& I8 e

e, M 3R goedm fewn ¥
(A) = T %

(B) @i foema o

(C) =afhea &

(D) 3w & ¥ TF A Al
(E) Swith d & *Ig 7

T # AEereT i gfaed i §
A) 16%
B) 18%

D) 35w ¥ ¥ & ¥ 31fue

(
(
(C) 12%
(
(E) Swi # & =g 7

T3 g ffda yom T
(8) e

(B) difeTeEe

(C) e

(D) 37w 4 T ¥ Al
(E) IR 4 ¥ 5 T
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77. Strain is an injury of 80. Which one of the following is the
cause of disabilities?
(A) bone .
(A) Heredity
(B) ligament (B) Accidents
(C) muscle (C) Malnutrition
(D) More than one of the above
(D) More than one of the above
(E) None of the above
(E) None of the above
81. Which of the following has
staple fibre?
78. A major g'oal of studying (A) Cotton
development is to
(B) Silk
(A) understand the (fhanges (C) Polyester
that appear to be universal
(D) More than one of the above
(B) explain the individual (E) None of the above
differences
(C) understand the influence of 82. The process of remov'ing the
the environment cotton seeds from fibres is called
(A) scouring
(D) More than one of the above o
(B) ginning
(E) None of the above (C) retting
(D) More than one of the above
79. Which one of the following (E) None of the above
glands is related to diabetes?
o 83. Which of the following is an
() Pituitary example of elastomeric fibre?
(B) Pancreas (A) Spandex
B) Acryli
(C) Thymus (B) Acrylic
(C) Linen
(D) More than one of the above (D) More than one of the above
E) None of the above E) None of the above
(E)
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77. A (TH) UF =R R 80. fmfdfga @ @ =m-w fomrammar =

I 27
(A) EE
(A) =g
(B) fermmie = (B) gHeT
Q) o (C) FHmm
(D) 39w H | TH ¥ ik
(D) 3T # & wF ¥ At (E) 30w & & 1 7
(E) 3% 3 & FrE T R e e T
(A)
78. fohm@ % 1eF 1 T0W 39 1 27 (B) WM™
(A) 37 UGl T SAEEE, S AEH © :
o o 3 (D) 37w U § T U Afw
(E) 39w 8§ & *Ig e

(B) Safther firsrarett =1 wmem

(C) vATeRor % TNE 1 A 82. HUW ¥ s w Wi A Fwem i

TiRAT I el STl 2
(D) 39w § | TH ¥ A(Uh (A) TRRE
(E) 3w & & 18 T (B) furtm
(C) e
. . (D) 39T H ¥ TF ¥ IATH
79. m?ﬁﬁaﬁq-mmn@gﬁ E) i &4 7
(A) i Tif 83. fmfcifgd W & M seemich W
IR 87
(B) st=mer (A) T
(C) e (B) e
(©) fam
(D) 3T & 0 At (D) 3 # ¥ wF §
(E) 3w & ¥ 18 T (E) 39 8§ @ *I§
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84. Which of the following is 88. Expanded form of RDA is
manufactured protein fibre? )
_ (A) Recommended Dietary
(A) Viscose Allowance
(B) Azlon
(B) Recommended Dietary
(C) Rubber
Adequacy
(D) More than one of the above
E) N f the ab (C) Regional Dietary Allowance
one of the above
(D) More than one of the above
85. Which is the most important
requirement while selecting the (E) None of the above
clothes for children?
afety . ich of the following is a food-
(A) Safet 89. Which of the following i food
ase strate to contro
(B) Comfort based gy 1
Inutrition?
(©) Self-help malnutrition
(D) More than one of the above (A) Vitamin A prophylaxis
(E) None of the above (B) Immunization
86. Which of the following is the (C) Food fortification
. ore than one of the above
Zggsfgzte 1f:'phallenge for an interior Dl M h f the ab
(A) Create something different (E) None of the above
(B) Create something functional
(C) Create something attractive 90. In which of the following
(D) More than one of the above deficiency diseases children suffer
from one or more of clinical
(E) None of the above conditions like  marasmus,
. ‘ . underweight, stunting, wasting
87. Which of the following is not or kwashiorkor?
a part of male reproductive
system? (A) Protein energy malnutrition
(A)  Cervix (B) Iodine-deficiency disease
(B) Vas deferens ]
(C) Anaemia
(C) Scrotum
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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84.

85.

86.

87.

freafafad 4 @ #F-wr fffa wedm
77

A) foemm

(B) 3TSTcdiA

C) =8

(D) 39w | ¥ UH ¥ 1M

(E) 3udth & & *r$ 7

sk fau w9e g wEr we
Hewqul ATkl Hi-T 37

(A) e

(B) smm

(C) TF-TEmEd

(D) 3w U | UH A Al

(E) 39t § @ 1S T

o e feseR 3 foro, fefofaq i
& e TR w27

(A) P A AT

(B) F® HMATHE M
(C) FB ATHH T

(D) 374 H ¥ TH ¥ A
(E) 3udth § @ h1$ T

fefafga & @ FF-w 9 IS
Jorelt @1 T i =7

(A) e -Ifan

(B) oTH SHH

(C) TewhI &I It

(D) 39w | ¥ UH ¥ M

(E) 3udth & & 18 7
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88. 3o o Wo (RDA) w1 famamia ®u
B {

(A) THHSE TESA A=Y
(B) TFHSE Srgzll Ut
(C) e 33l SraTeH
(D) 39w H | TH ¥ ik
(E) 3w & & *I§ 7t

89. Fumy & fRIfa = & fow f=fafaa
T ¥ -9 T Grer-3mmid W 87

(A) frerfim A mftrafeam

(B) ZrehreR

(C) e g (Biffpha)
(D) 39T H ¥ TF ¥ ATH
(E) 3udw & & *1$ 7

90. WuF dwi H FH ¥ B et fEm
it 0 9= s @ fuw e
feurfeat S8 weE, 9 9sH, SHA,
AT AT FATTRAR § fifed B 27

(A) T et o

(B) SAEE I ¥ BN arer A
(C) ufftr

(D) 37w W 4 & ° Al

(E) 39w 8§ @ *I§ e
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91.

92.

93.

Which of the following is sign
and symptom of pregnancy?

(A) Cessation of menstrual

cycle
(B) Morning sickness

(C) Increase in frequency of

urination
(D) More than one of the above

(E) None of the above

What preparation a pregnant
mother should do for welcome
of newborn?

(A) Ensure suitable
and suitable doctor

hospital

(B) Preparation of things to be
carried to hospital

(C) Buying clothes and toys for
the baby

(D) More than one of the above

(E) None of the above

Use of spices and vinegar in
pickles is based on which
principle of preservation?

(A) Reduction in pH

(B) Controlling the available

oxygen
(C) Removal of oxygen
(D) More than one of the above

(E) None of the above

18/HV/M-2023-20 HSc (HS)/32-A

94.

95.

Which of the following is not
a sign of protein energy
malnutrition?

(A) Underweight

(B) Wasting

(C) Goitre

(D) More than one of the above

(E) None of the above

Food infection means

(A) ingestion of live pathogenic
organisms in the body
which multiply and cause
disease

(B) eating food that contains
toxins released by pathogens
present in food where the
pathogens themselves do
not cause illness

(C) eating food which is
prepared one day before

(D) More than one of the above

(E) None of the above
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91. f=fafgd & @ FA-wr TaleRem & 94, ffafaa @ @ +FF-w T =i
e 57 U] T Tohd T &7
(A) @i g o d B

(A) FSH FH B
(B) UTA:IA ST ST

(C) IR-SIR ¥l e o feaw ST (B) udeTo=
(D) 39w | ¥ UH ¥ M

. (C) TerTE
(E) Sudw d 9 *iE T

(D) 3w U 4 & U s
92. m¥adl Hf I Tawd Ry & @ &

foTe o dEmt et =Tten? () 3T § &
(A) 30T ITEHAT TH IWE S

e &
(B) FUdld of WM Al WHM

T T 95. W@ HHAY 1 37 2

(C) == & fou e wd fae @l

o Sfifaq WeHs Sfai
(D) 3w W | UH § Afeh &) -

Ui, I g g | 9¢ S @

(E) 3udth & & 18 7 IR S o1 Hror ad @
03. =R ¥ U wd Rk 1 TN sieE (B) UE SISH o1 Ao 1 oo siisH
e % form fagia W et 27 B OANE A TS T
foumad werdd @i, el Wees @
(4) pH =1 #9 % it =61 HRor TE a9
(B) AT &I Iuctsaar @i b
Rl (C) w fam wgel o1 gam WS @

(C) ARSI I T
(D) 3w W ¥ UH § Al
(E) 394w & & *1E e (E) 394 | 9 FIE 76

(D) 37w U 4 T U Afuw
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96.

97.

98.

Pesticides, non-permissible food
colours and adulterants are
examples of

(A) physical hazard

(B) chemical hazard

(C) biological hazard

(D) More than one of the above
(E) None of the above

Which of the following is an

example of intentional adultera-

tion?

(A) Addition of vanaspati ghee
in pure ghee

(B) Addition of dirt, dust, other
seeds in spices

(C) Addition of sugar syrup in
honey

(D) More than one of the above
(E) None of the above

The Indian
integrated the laws related to
food safety under one umbrella
and enacted a new law, i.e.,

Government

in 2006.
(A) the Prevention of Food
Adulteration Act
(B) the Food Safety and

Standards Act

(C) the Fruit and Vegetable
Product Act

(D) More than one of the above

(E) None of the above

18/HV/M-2023-20 HSc (HS)/32-A

99. Which of the following is an
objective of diet therapy?
(A) Correction of nutritional
deficiencies
(B) Formulation of the diet to
meet the needs of the
patients taking into
consideration of his or her
food habits
(C) Modification of the existing
diets to ameliorate the
disease condition and to
keep it under control
(D) More than one of the above
(E) None of the above
100. Usha is 13-year-old and having
haemoglobin level 8 g/dl. She
always complains of fatigue
and lethargic. Which nutritional
problem is she suffering from?
(A) Iron-deficiency anaemia
(B) Vitamin A deficiency
(C) Iodine-deficiency disorders
(D) More than one of the above
(E) None of the above
101. is the science of food,
nutrients and other substances
as well as their digestion,
absorption and utilization by the
body.
(A) Food science
(B) Nutrition
(C) Clinical nutrition
(D) More than one of the above
(E) None of the above
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96. i, T-3TAd WE U1 3R ficae

97.

98.

% W|EW R

(A) e shftaw

(B) TEm™few Sifew

(C) i faw

(D) 39w | ¥ UH ¥ M
(E) 3wt § @ 1$ T

ffafiad & & HH-|1 STHegeR &l T8

fiycTTare ht 3eret 87
(A) 3 = Feata = e

(B) wHTall H &, e, 3 A Rl
[EIEI

(C) wreg | =it &t =t e
(D) 39w | ¥ UH ¥ M
(E) 37 & & 18 e

IRd R 4 WTE @A geted
HA ! TH DA o A Thikd Rl
3R 2006 ¥ TH 991 T A
AR

(A) @ srafgsr e afafey
(B) W §&m IR weh Afefem
(C) et Ud Hesit IcqTg Afarfrm
(D) 3w W ¥ UH § Al

(E) 3udth & & *1$ 7
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99,

100.

101.

fefafge & 4 F9-w1 T AARER
Tafercan =1 32w ®7

(A) dr TEeeeft it 1 guR

(B) UfRI & isH &1 T&ql bl &= §
TEd BT Ieh! STELd! bl T L
fou smmeR @1 fmio

(C) U i feufa =+ g SR @
e & T % for HisEr SR
T GINeE T

(D) 39w H | TH ¥ ik

(E) St H 9 I3 T

39T 13 1 i 7 AR 3T EHrclfed
W 8 g/dl B| 9T THIN UM IR FEAt
# TR wdt g1 a® fRw b
graeeft g ¥ difed 27

(A) 3TRRA il FHH A EN ST T
(B) Tt A &t =t

(C) wArAfed &t it ¥ T aTel FuaTE
(D) 39w H & TH ¥ ik

(E) 3w & & &1 7

qISH, 99 dwl Ud T qerei
* WY-w IR FE IS U,
STENToT 3T I 1 o5 2

(A) ER fomm
(B)

(C) Serfeh Tror
(

(

D) 39 § € UH ¥ AUh
E) 30w 4 ¥ HI5 T
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102.

103.

104.

The target beneficiaries of
Integrated Child Development
Services (ICDS) are

(A) only pregnant mothers

(B) children 0-6 years of age
and pregnant mothers

(C) children 0-6 years of age,
pregnant
mothers

and lactating

(D) More than one of the above

(E) None of the above

A person who can see nearby
objects clearly but cannot see
distant objects distinctively is
suffering from

(A) myopia

(B) hypermetropia

(C) presbyopia

(D) More than one of the above

(E) None of the above

movement is a rhythmic
movement of muscles of lining
of gut canal to move the food
along the digestive canal for
processing.

(A) Brownian

(B) Peristaltic

(C) Lateral flexion

(D) More than one of the above

(E) None of the above

18/HV/M-2023-20 HSc (HS)/32-A

105. helps in breakdown of
fat into small molecule and
emulsify it.

(A) Saliva

(B) Trypsin

(C) Bile salt

(D) More than one of the above
(E) None of the above

106. Every matured ovum discharged
from ovary, if not fertilized,
expelled out of the body through
vagina is called
(A) menstruation
(B) fertilization
(C) polycystic
(D) More than one of the above
(E) None of the above

107. hormone regulates
carbohydrate, protein and fat
metabolism in the body.

(A) Thyroxin

(B) Insulin

(C) Adrenaline

(D) More than one of the above
(E) None of the above

108. The appearance of secondary
sex characteristics during
adolescence is due to the
secretion of
(A) testosterone in males
(B) oestrogen in females
(C) growth hormone
(D) More than one of the above
(E) None of the above
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102.

103.

104.

Thishd ST @ Eanel (3o Hio
o THo) & Afera et 2

(A) haet Mefadt TraTd
(B) 0-6 a¥ & o= 3R mfaclt HraTd

(C) 0-6 a¥ & ==, wdadt IR
T R Tt HTaTd

(D) 39w | ¥ UH ¥ M+
(E) 37 & & 18

T ARk S U il aEge w wE &
¥ @ Fehdl B dAfee ¢ A aEged &
WY WA G R, a8 W
difeq 21

(A) wrEnfEET

(B) ErEuHIfE
(ORR:EIRIER]

(D) 39 U | UH § Al
(E) 393t # & 18 7

_ Tfg O % TEERO & fo
e ATt o |1 TS ol T
FA & fu erfa Tl At wa H
TrEYTE i U oiFeg T 2 |

(A) st

(B) I

(C) [l T (TleXe Felarefta)
(D) 39Yw | ¥ UTH | 37

(E) 3w & & 18 T
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105.

106.

107.

108.

_ T I B st § died 3iRr
I TERT A | HEE Ll 2
(A) @R

B) fafeem

C) T Tam

D) 37 H & TH ¥ Al

E) 3W® | ° %1 T

BN W e 91l I qiius 372
=i, afe Fufaa 78 frn ST 2, A &+
1w ¥ IR ¥ Srex Fehret fean s g,
AW el o 2

(A) wrEart

(
(
(
(

___ TMH R ¥ FEkEse, TeH
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109. As per the WHO recommen-

110.

111.

dation, exclusive breastfeeding
should be done for first of
infancy.

(A) 4 months
(B) 6 months
(C) 8 months
(D) More than one of the above

(E) None of the above

According to the ICMR recom-
mendation, which  of the
following vaccines to be given to
young child at birth?

(A) BCG
(B) OPV
(C) Measles

(D) More than one of the above

(E) None of the above

At what age measles and rubella
vaccines should be given to
infants?

(A) 6 weeks

(B) 10 weeks

(C) 9 months

(D) More than one of the above

(E) None of the above
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112. Which of the

following are
causes of air pollution?

(A) Automobile exhaust gases
(B) Chlorofluorocarbons
(C) Petroleum refineries
(D) More than one of the above

(E) None of the above

113. In which year the Government
of India has launched National
Mission for Clean Ganga?

(A) 1985

(B) 2016

(C) 2013

(D) More than one of the above

(E) None of the above

114. Which of the following is a
consequence of choked drains
and stinking water in the
surroundings?

(A) People will suffer from
diseases like cholera,
malaria, etc.

(B) The productivity of the
people will increase

(C) Creating a sense of health
security

(D) More than one of the above

(E) None of the above
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109. Tso TdHo 3o hl ITJWET o ITIHR,

110.

111.

Ty ste®em % TR e foRW
TAIH T ST =T

(A) 4 TE

(B) 67&

(C) 8W®

(D) 3 U | UH § Afh
(E) 3w & & 18 T

Mo "o WHo 3IRo I JIIET
IPER, T % W B doA Hl
ffafed & & wH-a1 e e s
=rfEu?

(A) o o Sfo
(B) 2o o dfio

(C) @\ w T

(D) 39w H ¥ UH ¥ M
(E) 3wtk § @ g T

Ryt 1 fore 30 # @EU IR ol &
ek T ST =Eu ?

(A) 6 TwE

(B) 10 @HTE

(C) 9w&

(D) 3w W ¥ UH § Al
(E) 3udth & & *1$ 7
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112. f=fafad & @ &F-w1 ag yquor @@

113.

114.

T g7

(A) e e T
(B) FARITIHIEH

(C) wifcrm fepred

(D) 39T H ¥ TH ¥ ATH
(E) 399w 8§ @ I8 e

IR TR 4 o5 o ada = T
e 3% form 27

(A) 1985

(B) 2016

(C) 2013

(D) 37w U 4 & ¥ Afuw

(E) 3w & & *1g 7t
frfafad #§ & ®F-91 9-19 § S
Tifert 3R SEeER at 1 afm 27

(A) @I ST BN, HolfE, offe IO 9
dfifgd i

(B) <N =t IeaTgehal sIgHT

(C) T FRaRT <h 1T UaT B
(D) 37 U | TF ¥ Afw

(E) 39 8§ @ *I§
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115. According to the ICMR guide-

116.

117.

lines for using the basic five food
groups, which of the following
statements is true?

(A) Include at least one or
a minimum number of
servings from each food
group in each meal.

(B) Cereals should not supply
more than 40 percent of
total calories.

(C) Do not include uncooked
vegetables and fruits in the
meals.

(D) More than one of the above
(E) None of the above

Which of the following is the

correct statement for balanced

diet?

(A) It includes a variety of food
items.

B) It
correct proportions.

(C) It should be attractive and
expensive.

includes nutrients in

(D) More than one of the above
(E) None of the above

Dry cleaning is the cleaning of
fabrics without the use of

(A) aqueous solution

(B) fluorocarbon solvent

(C) petroleum solvent

(D) More than one of the above
(E) None of the above
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118.

119.

120.

Which of the following is an
effective way to maximize the
satisfaction while wusing the
resources available to us?

(A) By using the right amount
of resources

(B) By sharing of resources

(C) By identifying the available
resources

(D) More than one of the above
(E) None of the above

Which of the following factors
must interact with each other
for an infection to occur?

A) Host

oy

) Agent of infection

) Mode of infection

O

) More than one of the above

P —

E) None of the above

Swachh Bharat Abhiyan is a
nationwide initiative launched
by the Indian Government in

2014 to
(A) eliminate open defecation

(B) improve solid waste

management

(C) increase awareness of

menstrual health manage-
ment

(D) More than one of the above
(E) None of the above
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115. 3T=0 Hio THo 3IANo £ g AT A

116.

117.

A9 9ygl % JEm o feenfresi %
s1geR Frefafad 8 @ ®F-a1 FoF 9
27

(A) T AER § YFk AT 9 9§
FH-U-FH Tk I KA G H
gidn (WSH TOEET) S dHTRd
|

(B) 3N ¥ FA et 1 40 fawra
T © SATQT A el 2|

(C) 3ER W =l @il Td ol
THET 7 &

(D) 3w W | UH § Afh

(E) 3w & © 1S T

ffaflgs & @ s9-w1 FoA w@faa
HATER & foru @t &7
(A) TEH g gerel 1 THE 8|

(B) ©El WET H WISV qwdl ST HHTAN
&l

(C) uI& TRk UF Wl BT =R
(D) 39w H ¥ UH ¥ 31fer=
(E) 37 | & g T

g FAT % 3w & e
FUS ! T 2

(A) STeff =i

(B) AR foemre

(C) R foreirreh

(D) 39y | ¥ UH ¥ i
(E) Swdw § 8 =g T
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118. THR UE 3IUAY GEIYA] Bl IUANT hid
T HgE @l AfUwaH A w
fr=fafiaa @ 9 oa-an ol g 27
(A) HETEA] 1 FE WA H ST HAT
(B) GHTEHT T TS HEAT
(C) 3ucTsd HETEMT Y Tg=H LT
(D) 37w U 4 T ¥ Al
(E) 39 § ¥ &g T

119. E%AY B9 % fou fefeafas & @ fo
FHh HI TH-GE b 1Y TR TR
AT =R ?

(A) Tt

(B) TsMH

(C) WhHUT o F=ROT HT alaht
(D) 37w W 4 & ° Alh
(E) 37w & & 18

120. ‘W=z 94 ANEH, 9YRd @HR 50
2014 ¥ Y& H TE TH TEAT 98 2,
o %)

(A) Tt | 3 I WH FAT
(B) 39 3TURTE yEeH § GuR T
(C) AEad wWred Yaegd & ax o
SNl SEHT
(D) 37w U 4 & ¥ Afw
(E) 39w 8§ @ *I§ e
37 IR e por.0.
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18/HV/M-2023-20 gt @t

SEffleaR 1 STIhuTh

A

9T -Gt
AT AT e TE-fomm

[ w2 | (gt : 120 )

T3l % IR I W Uz {9 for@ 1R @ s W ug o |

HEqUl e

. I8 T -gfeqert & 9 | fafs 2, am-1 vd -1 | 9e-1 8 S eremda a9t 9= 8§ Je-femm s ue #

2. 9F-I ¥ U9 &1 1 ¥ 40 % a1 WW-II § T &1 41 § 120 aF & | G+t 797 3R 37 IR e va fe=d

10.

11.

12.

13.

14.

° gfya 21

asft yE F I quE E

q-1 T8 9W-11 % S0 & I 4

TS REA B & 3T 37U T9-Yieaeht il Aie ot @ @ Toh 3Hk Su STt 3R Toa-gieaeht 1 geaen

[qfsa 3| FHUA1 Aa @ o gieqent # % & 3g 31 98T (I8 Ho 38 3R 39) Alka T 40 Yi=d IS § 3R &g

TS AT Y ToAT SUT AT AT WeT I AT I SATAT T At & ¢ | Yieaent ¥ fopelt Tehw <t I U W acwTA

maﬁw%ﬁwwwam

T U8 & R Fuifa e § st sigwud s ford | we-gfeas ® e $w T fowd |

e % S o o foTq Sk Sflereh SR SFERT § I AE {1 SR | SO IR U o 98- 1 W i s §

;Tﬁ‘TﬂﬂTq AR, TIA-YEaeRT JEe aur 3 foawer sava ford srwaen st S use Wi T@
|

IW TE F gg-2 W Fulfa wom § o ergwHie qor wvA-yfeet dit g@en A, B, C A1 D S W

Te-YfEeRT % TR0 ¥ o FW IR TR 3ifRd 7, ﬁw?aagﬁaﬁaﬂﬁ/mwﬁrﬁswmﬁqﬁm

TG, L | IR UAH W T -TIeareht J@ett ifeha T T S19aT Tera e Sifehd A W IR UAH hT @El

HedThd &l gRT |

% T % urd 3T—(A), (B), (C), (D) 3R (E) #0 W & T §| 37 ¥ 319 g9 T et Uk I A A

I 3T I IAF T 3ATehd L | T T o o0 haet Uek & I A1 2| 3TURT et UTHT A9k ZRT 3 0

siford et 3T W fefe o)

I TF § YT T T % G UTE g9 39 TER o1 g E—@), B, ©, © 3R ® W % 3w A F fou

ITTRT ST T % hael Ueh I ! hicit /et et & aiad-uis U4 ¥ fafed e 21 ues w1 & fou et o

I R A 3T 3 0 I = ° Fafga | o I e ° A v wed % foe w4 e g9 8 e o €

ql IR 3T eI AT SR | SR Ueleh U 7R ! ferfga & o ToTu shaer shreft /et @met & sta-dige o=

w1 T w | fRet ot TRR 1 wTe-ge stgan uitadd A @ R

IAIEER EHT Teish W99 o Terd IR % o 9o 2 Fd Rl T siet o1 ueh-witetg 37 gus % w9 § el S|

TE-YfEThT | RIS TR BISAT AT ST AT BT 8| TH-YfEeRt 3R I ueh ol wlan ofafy # wlan wed ¥ anel

M = o T | eI o AT W IR Uk S1eTeh hi ITavd €I § | Ik A8 S!S TA-YfEdh T T

o S A ergEfa Bl

T % TR A H Rt w1 off aTe A A W ST W ST o ek e TS il S HeRd @ STHET STeRt

qug fean s weRar 2|

;mgéwmaﬁaﬁmﬁaﬁﬁ Self Adhesive LDPE Bag ® Tt T& @ % /Hial @M % I0id & wierehet
{

Note : English version of the instructions is printed on the First Page of this Booklet.
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